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class Node {

int data=e,;

Node next=null;

Node(int dd, Node nn) { data=dd; next=nn; }

= ~ 5= #7510, 10, 30, 20, 50, 80, 40, 90, 70, 60 2= = AVL tree, Min/Max heap,
2-4treg> T &V PR L yesOrno = o= T & e 3X I friE = ftree or heap
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Balance | Searching Tree

AVL tree
Min heap
Max heap
2-4 tree
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Stepl: set

Step2:
Step3: while
Step3l.:
Step3z2:

4o BFS (fie &

OEREORT T & o T 4
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BFS /& & i | Loopl | - DFS % & /2 | Loopl | ---
print node print node
queue Stack
processSet processSet

queue) £2 DFS (fie & stack) /% & /% » 2 {7975 & Beh
4370 FBERT LA s cost s gL
SN~ (stack =8 270 B¢

B+ B ;)‘,‘;‘—IJ 1% Bl
=+ > > queue

BFS/DFS ;% & ;2 (/% 5 BFS ¢ * queue, /#5 % DFS # * stack)

queue/stack| to empty

set processSet to empty

enqueue/push

S and add S into processSet

gueue/stack

dequeue/pop and print it

enqueue/push

IS not empty

all one step neighbors which are not in processSet

according to the cost of edges and add them into processSet

Step33: display content of

B Y

gueue/stack

and processSet
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2§ | 7] 50, 46, 37, 28, 19 ie 7 % T 7| TG ot st d - (30 A)

R Time Complexity | In-Space Stable CENTE S
T Best Worst | (Yes/No) |(Yes/No) |50, 46,37, 28, 19
Bubble
Insertion
Merge (+ #cpPF >
X E 1)
Quick ( % - B %
pivot )

Radix (base 10)

Selection




